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1.  xdxsin equals :

(a) cos x (b) |cos| x (c) xcos (d) None

2.  dx
xxcossin

tanx
 equals

(a) cx sec2 (b) cx tan2

(c) c
x


tan
2

(d) c
x


sec
2

3.   dx
x

x
6

2

1
 is equal to :

(a) cx  31tan (b) cx  21tan

(c) cx  31tan
3
1

(d) cx  31tan3

4.  dxxcos  is equal to :

(a) cxxx  cossin

(b) cxxx  ]cossin[
2
1

(c) cxxx  cossin
(d) cxxx  ]cossin[2

5.   dxxx 1tan  is equal to :

(a) cxxx  12
2
1 tan)1(

(b) cxxx  12
2
1 tan)1(

(c) cxxx  
2
112

2
1 tan)1(

(d) cxxx  
2
112

2
1 tan)1(

6.  

 dx
e
e

x

x

1
1

 is equal to :

(a) cex  )1(log (b) cex  )1(log

(c) cee xx   )(log2 2/2/ (d) cee xx   )(log
2
1 2/2/

7. dxx 3tan equals

(a) cxx  coslogtan2 (b) cxx  coslogtan2

(c) cxx  coslogtan2
2
1 (d) cxx  coslogtan2

2
1

8. 


 dx
xx

x

1

12
2  equals

(a) cxx  12 (b) cxx  12 2

(c) cxx  12
2
1 (d) None of these

9.   xx ee
dx

 equals

(a) cee xx   )(log (b) cee xx   )(log

(c) cex  )(tan 1 (d) ce x  )(tan 1

10. dxx  2sin1  equals

(a) cxx  cossin (b) cxx  cossin
(c) cxx  sincos (d) None of these

11. 
 2232 x

dx
 is equal to :

(a) cx








4

sin 1
(b) cx









4

sin
2
1 1

(c) cx








4

sin
4
1 1

(d) cx








4

sin
2
1 1

12.   1342 xx
dx

 equals :

(a) cx  )2(cot
3
1 1 (b) cx  )2(tan

3
1 1

(c) cx







 

3
2tan

3
1 1

(d) None of these

13.   dxx1tan  equals :

(a) cxxx  )1(log
2
1tan 21

(b) cxxx  )1(log
2
1tan 21

(c) cxxx  )1(logtan 21

(d) None of these

14.   249 x
dx

 equals :

(a) c
x
x











23
23log

2
1

(b) c
x
x











23
23log

2
1

(c) c
x
x











23
23log

12
1

(d) None of these

15.  
dx

x
x

14  equals :

(a) c
x
x
















1
1log

2
1

2

2

(b) c
x
x
















1
1log

2
1

2

2

(c) c
x
x
















1
1log

4
1

2

2

(d) c
x
x
















1
1log

4
1

2

2

16.   xx
dx

cossin  equals :

(a) cx







 


28
tanlog (b) cx








 


28
log

(c) cx







 


28
tanlog

2
1

(d) None of these

17. The primitive of x1sin  is :

(a) cxxx  21 1sin (b) cxxx  21 1
2
1sin

(c) cxxx  21 1
2
1sin (d) cxxx  21 1sin
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18.  
 dx

xa
xa

 equals to :

(a) cxa
a
x








 221sin

(b) cxa
a
x








 221cos

(c) cxa
a
xa 






 221sin

(d) cxa
a
xa 






 221cos

19. 
 265 xx

dx
 equals :

(a) cx  )52(sin 1 (b) cx  )52(cos 1

(c) cx  )52(sin 1 (d) cx  )52(cosh 1

20. 



dx

x

x
2

2

1

1
 equals :

(a) cxxx  21 1
2
1sin

2
3

(b) cxxx  21 1
2
1sin

2
3

(c) cxxx  ]1sin[
2
1 21

(d) None of these

21. 
14xx

dx
 equals :

(a) cx  21sec (b) cx  21sec
2
1

(c) cx  21sec2 (d) cx  21cosec

22. If )()]([ xfxF
dx
d

 , then  dxxf )(  has

(a) a unique value (b) atleast two values
(c) a finite number of values
(d) infinite number of values

23.  

 dx
xx

x
3

3 1
 equals :

(a) cxxxx  12 tan)1(loglog

(b) cxxxx  12 tan)1(log
2
1log

(c) cxxxx  12 tan)1(log
2
1log

(d) None of these

24. 
 232 xx

dx
 is equal to :

(a) cx







 

17
32tan 1 (b) cx








 

17
32sec 1

(c) cx







 

17
32sin 1 (d) cx








 

17
32cos 1

25.   2xx
dx

 is equal to :

(a) cxx  })2({
3
1 2/32/3

(b) cxx  })2{(
3
1 2/32/3

(c) cxx  })2({
3
2 2/32/3

(d) cxx  })2{(
3
2 2/32/3

26. A primitive of | x |, when x < 0 is :

(a) cx 2
2
1

(b) cx  2
2
1

  (c) x + c (d) – x + c

27.  
 dx

x
x

1cos
1cos

 is equal to :

(a) cxx


2
tan2 (b) cxx


2

tan
2
1

(c) cxx 
2

tan
2
1

(d) cxx 
2

tan2

28.   dx
x

x
2

2

sin
cos1

 is equal to :

(a) cxx  2cot (b) cxx  2cot2

(c) cxx  cot2 (d) cxx  cot2

29.   xxx
dx

log  is equal to :

(a) cxx  )(logloglog (b) cx  )log1(loglog

(c) cx  )log1(log (d) None of these

30. To find the value of   dx
x

xlog1
, the proper substitution

is :
(a) tx log (b) tx  log1  (c) x = 1/t (d) None
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Indefinate Integration 1
1. (c) 2. (b) 3. (c) 4. (d) 5. (d) 6. (d) 7. (b) 8. (b) 9. (c) 10. (d)

11. (d) 12. (c) 13. (a) 14. (c) 15. (d) 16. (c) 17. (d) 18.  (c) 19. (b) 20. (d)

21. (b) 22. (a) 23. (b) 24. (c) 25. (a) 26. (b) 27. (a) 28. (c) 29. (c) 30. (a)


